

Quote NumberQ-57080Created Date04/17/2025Account NameThurgood Marshall AlternativeExpiration Date05/16/2025

Lrng Ctr (IL)

Primary Contact Stacey Golz Prepared By Kristin Munson

Email kristin.munson@openup.org

Bill To Accounts Payable- RIM Ship To Stacey Golz

600 11th Ave

000 11(II AVE

Rock Island, IL 61201-2316 Rock Island, IL 61201-2316

Introduction

Open Up Resources is pleased to submit this proposal for partnership. We are poised to deliver a best-in-class solution that suits your approach to teaching and learning.

The following quote outlines pricing for the requested materials and services; please contact us should your needs change. We will confirm this order upon receipt of your purchase order(s).

Thank you!

Product	Product Code	Unit Price	Qty.	Total Price
OUR EL G7 LANG ART SDNT CRS 21	9781638422549	\$51.00	5	\$255.00

Subtotal: \$255.00

Standard Shipping Subtotal: FREE*

Total: \$255.00

Terms & Conditions

Pricing Information:

- All prices are in US dollars and valid for 30 days from the date of this proposal. After this time period, prices, products, and services are subject to change without notice.
- Note: This is a cost proposal, not a formal contract.

Shipping and Handling Charges:

- All orders for Alaska and Hawaii will be charged shipping based on weight and distance.
- Standard orders will be shipped via ground carrier, standard delivery.



Quote NumberQ-57078Created Date04/29/2025Account NameWashington Junior High School (IL)Expiration Date05/16/2025

Primary Contact Stacey Golz Prepared By Kristin Munson

Email kristin.munson@openup.org

Bill To Accounts Payable- RIM Ship To Washington Stacey Golz

3300 18th Ave 3300 18th Ave

Rock Island, IL 61201 Rock Island, IL 61201-2946

Introduction

Open Up Resources is pleased to submit this proposal for partnership. We are poised to deliver a best-in-class solution that suits your approach to teaching and learning.

The following quote outlines pricing for the requested materials and services; please contact us should your needs change. We will confirm this order upon receipt of your purchase order(s).

Thank you!

Product	Product Code	Unit Price	Qty.	Total Price
OUR EL G7 Mod 1 Sdnt Wkbk	9781683626008	\$18.00	270	\$4,860.00
OUR EL G7 Mod 4 Sdnt Wkbk	9781683626039	\$18.00	200	\$3,600.00
OUR EL G8 Mod 1 Sdnt Wkbk	9781683626046	\$18.00	40	\$720.00
OUR EL G8 Mod 2 Sdnt Wkbk	9781683626053	\$18.00	40	\$720.00
OUR EL G8 LANG ART SDNT COURSE	9781643119434	\$51.00	225	\$11,475.00

Subtotal: \$21,375.00

Standard Shipping Subtotal: FREE*

Total: \$21,375.00

Terms & Conditions



Quote Number Q-57077

Account Name Edison Junior High School (IL)

Primary Contact Stacey Golz

Created Date
Expiration Date

04/29/2025 05/16/2025

Prepared By Kristin Munson

Email

kristin.munson@openup.org

Accounts Payable- RIM

4141 9th St

Rock Island, IL 61201

Edison Ship To Stacey Golz

> 4141 9th St Rock Island, IL 61201-6753

Introduction

Bill To

Open Up Resources is pleased to submit this proposal for partnership. We are poised to deliver a best-in-class solution that suits your approach to teaching and learning.

The following quote outlines pricing for the requested materials and services; please contact us should your needs change. We will confirm this order upon receipt of your purchase order(s).

Thank you!

Product	Product Code	Unit Price	Qty.	Total Price
OUR EL G7 LANG ART SDNT CRS 21	9781638422549	\$51.00	175	\$8,925.00
OUR EL G8 LANG ART SDNT COURSE	9781643119434	\$51.00	115	\$5,865.00
OUR EL G8 Mod 1 Sdnt Wkbk	9781683626046	\$18.00	55	\$990.00
OUR EL G8 Mod 4 Sdnt Wkbk	9781683626077	\$18.00	55	\$990.00

Subtotal: \$16,770.00

Standard Shipping Subtotal: FREE*

Total: \$16,770.00

Terms & Conditions



Quote Number Q-57076
Account Name Thomas Jefferson Elementary (IL)

Primary Contact Stacey Golz

Created Date Expiration Date 04/29/2025 05/16/2025

Prepared By Kristin Munson

Email

kristin.munson@openup.org

Bill To Accounts Payable- RIM

2101 6TH Ave

Milan, IL 61201

Ship To Thomas Jefferson Stacey Golz

1307 4th St W

Rock Island, IL 61264

Introduction

Open Up Resources is pleased to submit this proposal for partnership. We are poised to deliver a best-in-class solution that suits your approach to teaching and learning.

The following quote outlines pricing for the requested materials and services; please contact us should your needs change. We will confirm this order upon receipt of your purchase order(s).

Product	Product Code	Unit Price	Qty.	Total Price
OUR EL G3 LANG ART SDNT COURSE	9781683623762	\$40.00	15	\$600.00
OUR EL G4 LANG ART SDNT COURSE	9781683623779	\$40.00	20	\$800.00
OUR EL G5 LANG ART SDNT COURSE	9781683623786	\$40.00	20	\$800.00
OUR EL G6 LANG ART SDNT COURSE	9781643119410	\$51.00	20	\$1,020.00
OUR EL G3 Mod 1 Sdnt Wkbk	9781683622352	\$14.00	25	\$350.00
OUR EL G3 Mod 2 Sdnt Wkbk	9781683623144	\$14.00	20	\$280.00
OUR EL G4 Mod 2 Sdnt Wkbk	9781683623236	\$14.00	5	\$70.00

OUR EL G4 Mod 3 Sdnt Wkbk	9781683623267	\$14.00	15	\$210.00
OUR EL G5 Mod 3 Sdnt Wkbk	9781683623359	\$14.00	15	\$210.00
OUR EL G6 Mod 2 Sdnt Wkbk	9781683625971	\$18.00	5	\$90.00
OUR EL G6 Mod 3 Sdnt Wkbk	9781683625988	\$18.00	5	\$90.00

Subtotal: \$4,520.00

Standard Shipping Subtotal: FREE*

Total: \$4,520.00

Terms & Conditions

Pricing Information:

- All prices are in US dollars and valid for 30 days from the date of this proposal. After this time period, prices, products, and services are subject to change without notice.
- Note: This is a cost proposal, not a formal contract.

Shipping and Handling Charges:

- All orders for Alaska and Hawaii will be charged shipping based on weight and distance.
- Standard orders will be shipped via ground carrier, standard delivery.
- Books are packed in cartons labeled with Grade and Unit Number. Pallets will be organized by the receiving school or district to aid in distribution to the appropriate locations. To minimize the number of pallets shipped per school, materials for more than one grade level may appear on a single pallet.
- *Additional charges may apply for expedited shipments or exceptionally large orders; please contact
 your field specialist if you have special shipping or delivery requirements. Requests for shipping or
 product order changes after submission of your order will be accommodated whenever possible, though
 fees for re-direction may apply.

Ordering Information:

Please submit your official purchase order, with authorized signature(s), electronically to your field specialist. Include:

- Your complete billing address.
- A primary contact name, email address, phone number, title, school, district, street address, city, state, and zip code.
- A copy of this proposal.



Quote NumberQ-57075Created Date04/29/2025Account NameRock Island Center Math & ScienceExpiration Date05/16/2025

(IL)

Primary Contact Stacey Golz Prepared By Kristin Munson

Email kristin.munson@openup.org

RICMS

Bill To Accounts Payable- RIM Ship To Stacey Golz

2000 7th Avenue 2101 16th Avenue

Rock Island, IL 61201 Rock Island, IL 61201-3657

Introduction

Open Up Resources is pleased to submit this proposal for partnership. We are poised to deliver a best-in-class solution that suits your approach to teaching and learning.

The following quote outlines pricing for the requested materials and services; please contact us should your needs change. We will confirm this order upon receipt of your purchase order(s).

Thank you!

Product	Product Code	Unit Price	Qty.	Total Price
OUR EL G3 LANG ART SDNT COURSE	9781683623762	\$40.00	70	\$2,800.00
OUR EL G4 LANG ART SDNT COURSE	9781683623779	\$40.00	70	\$2,800.00
OUR EL G5 LANG ART SDNT COURSE	9781683623786	\$40.00	65	\$2,600.00
OUR EL G6 LANG ART SDNT COURSE	9781643119410	\$51.00	50	\$2,550.00
OUR EL G5 Mod 1 Sdnt Wkbk	9781683622413	\$14.00	15	\$210.00
OUR EL G5 Mod 3 Sdnt Wkbk	9781683623359	\$14.00	5	\$70.00

Subtotal: \$11,030.00



Quote Number Q-57074

Account Name Rock Island Academy (IL)

Primary Contact Stacey Golz

Created Date 04/29/2025 **Expiration Date** 05/16/2025

Prepared By Kristin Munson

Email kristin.munson@openup.org

Bill To Accounts Payable- RIM

2101 6TH Ave

Rock Island, IL 61201

Ship To RI Academy Stacey Golz

930 14th St

Rock Island, IL 61201

Introduction

Open Up Resources is pleased to submit this proposal for partnership. We are poised to deliver a best-in-class solution that suits your approach to teaching and learning.

The following quote outlines pricing for the requested materials and services; please contact us should your needs change. We will confirm this order upon receipt of your purchase order(s).

Product	Product Code	Unit Price	Qty.	Total Price
OUR EL G3 LANG ART SDNT COURSE	9781683623762	\$40.00	60	\$2,400.00
OUR EL G5 LANG ART SDNT COURSE	9781683623786	\$40.00	65	\$2,600.00
OUR EL G6 LANG ART SDNT COURSE	9781643119410	\$51.00	30	\$1,530.00
OUR EL G3 Mod 2 Sdnt Wkbk	9781683623144	\$14.00	20	\$280.00
OUR EL G3 Mod 4 Sdnt Wkbk	9781683623205	\$14.00	35	\$490.00
OUR EL G4 Mod 1 Sdnt Wkbk	9781683622383	\$14.00	55	\$770.00
OUR EL G4 Mod 2 Sdnt Wkbk	9781683623236	\$14.00	10	\$140.00

OUR EL G6 Mod 1 Sdnt Wkbk	9781683625964	\$18.00	20	\$360.00
OUR EL G6 Mod 2 Sdnt Wkbk	9781683625971	\$18.00	10	\$180.00

Subtotal: \$8,750.00

Standard Shipping Subtotal: FREE*

Total: \$8,750.00

Terms & Conditions

Pricing Information:

- All prices are in US dollars and valid for 30 days from the date of this proposal. After this time period, prices, products, and services are subject to change without notice.
- Note: This is a cost proposal, not a formal contract.

Shipping and Handling Charges:

- All orders for Alaska and Hawaii will be charged shipping based on weight and distance.
- Standard orders will be shipped via ground carrier, standard delivery.
- Books are packed in cartons labeled with Grade and Unit Number. Pallets will be organized by the
 receiving school or district to aid in distribution to the appropriate locations. To minimize the number of
 pallets shipped per school, materials for more than one grade level may appear on a single pallet.
- *Additional charges may apply for expedited shipments or exceptionally large orders; please contact
 your field specialist if you have special shipping or delivery requirements. Requests for shipping or
 product order changes after submission of your order will be accommodated whenever possible, though
 fees for re-direction may apply.

Ordering Information:

Please submit your official purchase order, with authorized signature(s), electronically to your field specialist. Include:

- Your complete billing address.
- A primary contact name, email address, phone number, title, school, district, street address, city, state, and zip code.
- A copy of this proposal.
- Any additional special requirements for delivery.

Payment Information:

• We kindly request payment within 30 days. Open Up Resources is a 501C3 not-for-profit organization.



Quote Number Q-57073

Account Name Ridgewood Elementary School (IL)

Primary Contact Stacey Golz

Created Date Expiration Date 04/29/2025 05/16/2025

Prepared By Kristin Munson

Email

kristin.munson@openup.org

Bill To Accounts Payable- RIM

2101 6TH Ave

Rock Island, IL 61201

Ship To Ridgewood Stacey Golz

9607 14th St W

Rock Island, IL 61201

Introduction

Open Up Resources is pleased to submit this proposal for partnership. We are poised to deliver a best-in-class solution that suits your approach to teaching and learning.

The following quote outlines pricing for the requested materials and services; please contact us should your needs change. We will confirm this order upon receipt of your purchase order(s).

Product	Product Code	Unit Price	Qty.	Total Price
OUR EL G3 LANG ART SDNT COURSE	9781683623762	\$40.00	15	\$600.00
OUR EL G4 LANG ART SDNT COURSE	9781683623779	\$40.00	10	\$400.00
OUR EL G5 LANG ART SDNT COURSE	9781683623786	\$40.00	15	\$600.00
OUR EL G6 LANG ART SDNT COURSE	9781643119410	\$51.00	20	\$1,020.00
OUR EL G3 Mod 2 Sdnt Wkbk	9781683623144	\$14.00	30	\$420.00
OUR EL G3 Mod 4 Sdnt Wkbk	9781683623205	\$14.00	10	\$140.00
OUR EL G4 Mod 2 Sdnt Wkbk	9781683623236	\$14.00	15	\$210.00

OUR EL G4 Mod 3 Sdnt Wkbk	9781683623267	\$14.00	20	\$280.00
OUR EL G5 Mod 2 Sdnt Wkbk	9781683623328	\$14.00	20	\$280.00
OUR EL G5 Mod 3 Sdnt Wkbk	9781683623359	\$14.00	5	\$70.00
OUR EL G6 Mod 2 Sdnt Wkbk	9781683625971	\$18.00	5	\$90.00
OUR EL G6 Mod 3 Sdnt Wkbk	9781683625988	\$18.00	10	\$180.00

Subtotal: \$4,290.00

Standard Shipping Subtotal: FREE*

Total: \$4,290.00

Terms & Conditions

Pricing Information:

- All prices are in US dollars and valid for 30 days from the date of this proposal. After this time period, prices, products, and services are subject to change without notice.
- Note: This is a cost proposal, not a formal contract.

Shipping and Handling Charges:

- All orders for Alaska and Hawaii will be charged shipping based on weight and distance.
- Standard orders will be shipped via ground carrier, standard delivery.
- Books are packed in cartons labeled with Grade and Unit Number. Pallets will be organized by the receiving school or district to aid in distribution to the appropriate locations. To minimize the number of pallets shipped per school, materials for more than one grade level may appear on a single pallet.
- *Additional charges may apply for expedited shipments or exceptionally large orders; please contact
 your field specialist if you have special shipping or delivery requirements. Requests for shipping or
 product order changes after submission of your order will be accommodated whenever possible, though
 fees for re-direction may apply.

Ordering Information:

Please submit your official purchase order, with authorized signature(s), electronically to your field specialist. Include:

Your complete billing address.



Quote Number Q-57072

Account Name Longfellow Elementary (IL)

Primary Contact Stacey Golz **Created Date Expiration Date**

04/29/2025 05/16/2025

Prepared By Kristin Munson

Email kristin.munson@openup.org

Longfellow Stacey Golz **Ship To**

4198 7th Ave

Rock Island, IL 61201-2250

Bill To Accounts Payable- RIM

4198 7th Ave

Rock Island, IL 61201

Introduction

Open Up Resources is pleased to submit this proposal for partnership. We are poised to deliver a best-in-class solution that suits your approach to teaching and learning.

The following quote outlines pricing for the requested materials and services; please contact us should your needs change. We will confirm this order upon receipt of your purchase order(s).

Product	Product Code	Unit Price	Qty.	Total Price
OUR EL G3 LANG ART SDNT COURSE	9781683623762	\$40.00	35	\$1,400.00
OUR EL G4 LANG ART SDNT COURSE	9781683623779	\$40.00	10	\$400.00
OUR EL G5 LANG ART SDNT COURSE	9781683623786	\$40.00	30	\$1,200.00
OUR EL G6 LANG ART SDNT COURSE	9781643119410	\$51.00	15	\$765.00
OUR EL G3 Mod 1 Sdnt Wkbk	9781683622352	\$14.00	5	\$70.00
OUR EL G3 Mod 2 Sdnt Wkbk	9781683623144	\$14.00	5	\$70.00
OUR EL G4 Mod 1 Sdnt Wkbk	9781683622383	\$14.00	10	\$140.00

OUR EL G4 Mod 3 Sdnt Wkbk	9781683623267	\$14.00	5	\$70.00
OUR EL G5 Mod 1 Sdnt Wkbk	9781683622413	\$14.00	5	\$70.00
OUR EL G6 Mod 2 Sdnt Wkbk	9781683625971	\$18.00	5	\$90.00
OUR EL G6 Mod 3 Sdnt Wkbk	9781683625988	\$18.00	20	\$360.00

Subtotal: \$4,635.00

Standard Shipping Subtotal: FREE*

Total: \$4,635.00

Terms & Conditions

Pricing Information:

- All prices are in US dollars and valid for 30 days from the date of this proposal. After this time period, prices, products, and services are subject to change without notice.
- Note: This is a cost proposal, not a formal contract.

Shipping and Handling Charges:

- All orders for Alaska and Hawaii will be charged shipping based on weight and distance.
- Standard orders will be shipped via ground carrier, standard delivery.
- Books are packed in cartons labeled with Grade and Unit Number. Pallets will be organized by the receiving school or district to aid in distribution to the appropriate locations. To minimize the number of pallets shipped per school, materials for more than one grade level may appear on a single pallet.
- *Additional charges may apply for expedited shipments or exceptionally large orders; please contact
 your field specialist if you have special shipping or delivery requirements. Requests for shipping or
 product order changes after submission of your order will be accommodated whenever possible, though
 fees for re-direction may apply.

Ordering Information:

Please submit your official purchase order, with authorized signature(s), electronically to your field specialist. Include:

- Your complete billing address.
- A primary contact name, email address, phone number, title, school, district, street address, city, state, and zip code.
- A copy of this proposal.

• Any additional special requirements for delivery.

Payment Information:

- We kindly request payment within 30 days. Open Up Resources is a 501C3 not-for-profit organization.
- Any late payments shall be subject to a service charge equal to 1.5% per month of the amount due or
 the maximum amount allowed by law, whichever is less. In the event of late payment, you will be liable
 for all reasonable costs and expenses incurred in the collection of overdue amounts, including but not
 limited to reasonable attorney's fees, court costs, and third-party collection agency fees, to the fullest
 extent permitted by applicable law.

Shortages and Damaged Materials

Please inventory your materials upon receipt. Open Up Resources will replace damaged, missing, or incorrect materials from an order at no cost to the customer if notified within 30 days of the shipment arrival date.

Return requests for any other reason must be made within 30 days of the shipment arrival date and will be considered by Open Up Resources on a case-by-case basis.

The following materials are not refundable:

- Custom trade book bundles and their bins
- Lab Materials Kits

Warranty:

- Open Up warrants to the District that for one year from the date of purchase (the 'Warranty Period'), all printed textbooks provided by Open Up pursuant to this RFP ('Textbooks') will be free from material manufacturing defects in material and workmanship that render such Textbooks unusable. To the extent that a material manufacturing defect that makes any Textbook unusable is discovered during the Warranty Period, Open Up will provide the District with a functionally equivalent replacement Textbook at no additional cost to the District. EXCEPT FOR THE WARRANTY SET FORTH ABOVE, OPEN UP MAKES NO WARRANTY WHATSOEVER WITH RESPECT TO THE TEXTBOOKS, INCLUDING ANY (A) WARRANTY OF MERCHANTABILITY OR (B) WARRANTY OF FITNESS FOR A PARTICULAR PURPOSE, WHETHER EXPRESS OR IMPLIED BY LAW, COURSE OF DEALING, COURSE OF PERFORMANCE, USAGE OF TRADE OR OTHERWISE. THIS WARRANTY DOES NOT APPLY TO LAB MATERIALS KITS.
- The District must make best efforts to inspect books for material defects within 60 days of receipt to
 ensure timely replacement.
- Issues requiring warranty support may be directed to support@openup.org.



Quote Number Q-57071

Account Name Frances Willard School (IL)

Primary Contact Stacey Golz

Created Date 04/29/2025 **Expiration Date** 05/16/2025

Prepared By Kristin Munson

Email kristin.munson@openup.org

Frances Willard

Ship To Stacey Golz

2503 9th St

Rock Island, IL 61201-5278

Bill To Accounts Payable- RIM

2503 9th St

Rock Island, IL 61201

Introduction

Open Up Resources is pleased to submit this proposal for partnership. We are poised to deliver a best-in-class solution that suits your approach to teaching and learning.

The following quote outlines pricing for the requested materials and services; please contact us should your needs change. We will confirm this order upon receipt of your purchase order(s).

Product	Product Code	Unit Price	Qty.	Total Price
OUR EL G3 Mod 2 Sdnt Wkbk	9781683623144	\$14.00	30	\$420.00
OUR EL G3 Mod 4 Sdnt Wkbk	9781683623205	\$14.00	25	\$350.00
OUR EL G6 Mod 3 Sdnt Wkbk	9781683625988	\$18.00	5	\$90.00
OUR EL G6 Mod 4 Sdnt Wkbk	9781683625995	\$18.00	20	\$360.00
OUR EL G4 LANG ART SDNT COURSE	9781683623779	\$40.00	25	\$1,000.00
OUR EL G5 LANG ART SDNT COURSE	9781683623786	\$40.00	20	\$800.00
OUR EL G6 LANG ART SDNT COURSE	9781643119410	\$51.00	30	\$1,530.00



Quote Number Q-57070

Account Name Eugene Field School (IL)

Rock Island, IL 61201

Primary Contact Stacey Golz

2101 6TH Ave

 Created Date
 04/29/2025

 Expiration Date
 05/16/2025

Prepared By Kristin Munson

Email kristin.munson@openup.org

Eugene Field

Accounts Payable- RIM Ship To Stacey Golz

2900 31st Ave

Rock Island, IL 61201

Introduction

Bill To

Open Up Resources is pleased to submit this proposal for partnership. We are poised to deliver a best-in-class solution that suits your approach to teaching and learning.

The following quote outlines pricing for the requested materials and services; please contact us should your needs change. We will confirm this order upon receipt of your purchase order(s).

Product	Product Code	Unit Price	Qty.	Total Price
OUR EL G3 LANG ART SDNT COURSE	9781683623762	\$40.00	55	\$2,200.00
OUR EL G4 LANG ART SDNT COURSE	9781683623779	\$40.00	65	\$2,600.00
OUR EL G5 LANG ART SDNT COURSE	9781683623786	\$40.00	65	\$2,600.00
OUR EL G6 LANG ART SDNT COURSE	9781643119410	\$51.00	60	\$3,060.00
OUR EL G3 Mod 1 Sdnt Wkbk	9781683622352	\$14.00	10	\$140.00
OUR EL G3 Mod 2 Sdnt Wkbk	9781683623144	\$14.00	15	\$210.00
OUR EL G4 Mod 2 Sdnt Wkbk	9781683623236	\$14.00	15	\$210.00

OUR EL G4 Mod 3 Sdnt Wkbk	9781683623267	\$14.00	15	\$210.00
OUR EL G5 Mod 1 Sdnt Wkbk	9781683622413	\$14.00	5	\$70.00
OUR EL G5 Mod 3 Sdnt Wkbk	9781683623359	\$14.00	5	\$70.00
OUR EL G6 Mod 2 Sdnt Wkbk	9781683625971	\$18.00	5	\$90.00
OUR EL G6 Mod 4 Sdnt Wkbk	9781683625995	\$18.00	5	\$90.00

Subtotal: \$11,550.00

Standard Shipping Subtotal: FREE*

Total: \$11,550.00

Terms & Conditions

Pricing Information:

- All prices are in US dollars and valid for 30 days from the date of this proposal. After this time period, prices, products, and services are subject to change without notice.
- Note: This is a cost proposal, not a formal contract.

Shipping and Handling Charges:

- All orders for Alaska and Hawaii will be charged shipping based on weight and distance.
- Standard orders will be shipped via ground carrier, standard delivery.
- Books are packed in cartons labeled with Grade and Unit Number. Pallets will be organized by the
 receiving school or district to aid in distribution to the appropriate locations. To minimize the number of
 pallets shipped per school, materials for more than one grade level may appear on a single pallet.
- *Additional charges may apply for expedited shipments or exceptionally large orders; please contact
 your field specialist if you have special shipping or delivery requirements. Requests for shipping or
 product order changes after submission of your order will be accommodated whenever possible, though
 fees for re-direction may apply.

Ordering Information:

Please submit your official purchase order, with authorized signature(s), electronically to your field specialist. Include:

Your complete billing address.



Quote Number Q-57069

Account Name Earl Hanson Elementary (IL)

Primary Contact Stacey Golz

Created Date Expiration Date

04/29/2025 05/16/2025

Prepared By Kristin Munson

Email kristin.munson@openup.org

Earl Hanson

Ship To Stacey Golz 4000 9th St

Rock Island, IL 61201

Bill To Accounts Payable- RIM

2101 6TH Ave

Rock Island, IL 61201

Introduction

Open Up Resources is pleased to submit this proposal for partnership. We are poised to deliver a best-in-class solution that suits your approach to teaching and learning.

The following quote outlines pricing for the requested materials and services; please contact us should your needs change. We will confirm this order upon receipt of your purchase order(s).

Product	Product Code	Unit Price	Qty.	Total Price
OUR EL G3 LANG ART SDNT COURSE	9781683623762	\$40.00	15	\$600.00
OUR EL G4 LANG ART SDNT COURSE	9781683623779	\$40.00	45	\$1,800.00
OUR EL G5 LANG ART SDNT COURSE	9781683623786	\$40.00	25	\$1,000.00
OUR EL G6 LANG ART SDNT COURSE	9781643119410	\$51.00	40	\$2,040.00
OUR EL G3 Mod 2 Sdnt Wkbk	9781683623144	\$14.00	5	\$70.00
OUR EL G3 Mod 4 Sdnt Wkbk	9781683623205	\$14.00	5	\$70.00
OUR EL G4 Mod 1 Sdnt Wkbk	9781683622383	\$14.00	30	\$420.00

OUR EL G4 Mod 3 Sdnt Wkbk	9781683623267	\$14.00	20	\$280.00
OUR EL G5 Mod 1 Sdnt Wkbk	9781683622413	\$14.00	5	\$70.00
OUR EL G5 Mod 3 Sdnt Wkbk	9781683623359	\$14.00	5	\$70.00
OUR EL G6 Mod 1 Sdnt Wkbk	9781683625964	\$18.00	15	\$270.00
OUR EL G6 Mod 2 Sdnt Wkbk	9781683625971	\$18.00	5	\$90.00

Subtotal: \$6,780.00

Standard Shipping Subtotal: FREE*

Total: \$6,780.00

Terms & Conditions

Pricing Information:

- All prices are in US dollars and valid for 30 days from the date of this proposal. After this time period, prices, products, and services are subject to change without notice.
- Note: This is a cost proposal, not a formal contract.

Shipping and Handling Charges:

- All orders for Alaska and Hawaii will be charged shipping based on weight and distance.
- Standard orders will be shipped via ground carrier, standard delivery.
- Books are packed in cartons labeled with Grade and Unit Number. Pallets will be organized by the
 receiving school or district to aid in distribution to the appropriate locations. To minimize the number of
 pallets shipped per school, materials for more than one grade level may appear on a single pallet.
- *Additional charges may apply for expedited shipments or exceptionally large orders; please contact
 your field specialist if you have special shipping or delivery requirements. Requests for shipping or
 product order changes after submission of your order will be accommodated whenever possible, though
 fees for re-direction may apply.

Ordering Information:

Please submit your official purchase order, with authorized signature(s), electronically to your field specialist. Include:

Your complete billing address.

- A primary contact name, email address, phone number, title, school, district, street address, city, state, and zip code.
- A copy of this proposal.
- Any additional special requirements for delivery.

Payment Information:

- We kindly request payment within 30 days. Open Up Resources is a 501C3 not-for-profit organization.
- Any late payments shall be subject to a service charge equal to 1.5% per month of the amount due or
 the maximum amount allowed by law, whichever is less. In the event of late payment, you will be liable
 for all reasonable costs and expenses incurred in the collection of overdue amounts, including but not
 limited to reasonable attorney's fees, court costs, and third-party collection agency fees, to the fullest
 extent permitted by applicable law.

Shortages and Damaged Materials

Please inventory your materials upon receipt. Open Up Resources will replace damaged, missing, or incorrect materials from an order at no cost to the customer if notified within 30 days of the shipment arrival date.

Return requests for any other reason must be made within 30 days of the shipment arrival date and will be considered by Open Up Resources on a case-by-case basis.

The following materials are not refundable:

- Custom trade book bundles and their bins
- Lab Materials Kits

Warranty:

- Open Up warrants to the District that for one year from the date of purchase (the 'Warranty Period'), all printed textbooks provided by Open Up pursuant to this RFP ('Textbooks') will be free from material manufacturing defects in material and workmanship that render such Textbooks unusable. To the extent that a material manufacturing defect that makes any Textbook unusable is discovered during the Warranty Period, Open Up will provide the District with a functionally equivalent replacement Textbook at no additional cost to the District. EXCEPT FOR THE WARRANTY SET FORTH ABOVE, OPEN UP MAKES NO WARRANTY WHATSOEVER WITH RESPECT TO THE TEXTBOOKS, INCLUDING ANY (A) WARRANTY OF MERCHANTABILITY OR (B) WARRANTY OF FITNESS FOR A PARTICULAR PURPOSE, WHETHER EXPRESS OR IMPLIED BY LAW, COURSE OF DEALING, COURSE OF PERFORMANCE, USAGE OF TRADE OR OTHERWISE. THIS WARRANTY DOES NOT APPLY TO LAB MATERIALS KITS.
- The District must make best efforts to inspect books for material defects within 60 days of receipt to
 ensure timely replacement.
- Issues requiring warranty support may be directed to support@openup.org.



Quote Number Q-57067

04/29/2025 **Account Name** Denkmann Elementary (IL) **Expiration Date** 05/16/2025 **Primary Contact** Stacey Golz **Prepared By** Kristin Munson

> **Email** kristin.munson@openup.org

Denkmann

Created Date

Accounts Payable- RIM **Ship To** Stacey Golz 2101 6TH Ave 4101 22nd Ave

Rock Island, IL 61201 Rock Island, IL 61201

Introduction

Bill To

Open Up Resources is pleased to submit this proposal for partnership. We are poised to deliver a best-in-class solution that suits your approach to teaching and learning.

The following quote outlines pricing for the requested materials and services; please contact us should your needs change. We will confirm this order upon receipt of your purchase order(s).

Product	Product Code	Unit Price	Qty.	Total Price
OUR EL G3 LANG ART SDNT COURSE	9781683623762	\$40.00	20	\$800.00
OUR EL G4 LANG ART SDNT COURSE	9781683623779	\$40.00	35	\$1,400.00
OUR EL G5 LANG ART SDNT COURSE	9781683623786	\$40.00	30	\$1,200.00
OUR EL G6 LANG ART SDNT COURSE	9781643119410	\$51.00	35	\$1,785.00
OUR EL G3 Mod 2 Sdnt Wkbk	9781683623144	\$14.00	15	\$210.00
OUR EL G3 Mod 4 Sdnt Wkbk	9781683623205	\$14.00	5	\$70.00
OUR EL G4 Mod 1 Sdnt Wkbk	9781683622383	\$14.00	20	\$280.00

OUR EL G4 Mod 3 Sdnt Wkbk	9781683623267	\$14.00	25	\$350.00
OUR EL G5 Mod 1 Sdnt Wkbk	9781683622413	\$14.00	15	\$210.00
OUR EL G5 Mod 3 Sdnt Wkbk	9781683623359	\$14.00	35	\$490.00
OUR EL G6 Mod 3 Sdnt Wkbk	9781683625988	\$18.00	5	\$90.00
OUR EL G6 Mod 4 Sdnt Wkbk	9781683625995	\$18.00	5	\$90.00

Subtotal: \$6,975.00

Standard Shipping Subtotal: FREE*

Total: \$6,975.00

Terms & Conditions

Pricing Information:

- All prices are in US dollars and valid for 30 days from the date of this proposal. After this time period, prices, products, and services are subject to change without notice.
- Note: This is a cost proposal, not a formal contract.

Shipping and Handling Charges:

- All orders for Alaska and Hawaii will be charged shipping based on weight and distance.
- Standard orders will be shipped via ground carrier, standard delivery.
- Books are packed in cartons labeled with Grade and Unit Number. Pallets will be organized by the
 receiving school or district to aid in distribution to the appropriate locations. To minimize the number of
 pallets shipped per school, materials for more than one grade level may appear on a single pallet.
- *Additional charges may apply for expedited shipments or exceptionally large orders; please contact
 your field specialist if you have special shipping or delivery requirements. Requests for shipping or
 product order changes after submission of your order will be accommodated whenever possible, though
 fees for re-direction may apply.

Ordering Information:

Please submit your official purchase order, with authorized signature(s), electronically to your field specialist. Include:

Your complete billing address.